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sin(x +30°) =1 °]B2 x +30°=90°
. x=60°

1
2cos60°xtan60°:2x§x V3 =13




oS 804 9 0 = AABC 9] 91F o],
k2] 29] Zol= 10cm ©]th. AC = 12cm
d of, sin A o] §f-2?

3 V5 6
@5‘ﬁ @F ® -
© 5 Q3

AB = 20B = 20cm ©]1 /C =90°°| B2
BC = V202 - 122 = 16 cm
BC 16 4

Sin AB 20 5




5.
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> 3E: ©
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28. 1! 49200 - 2% 4 2x— 38 HFEA A AL Fow?

© (2 +1)(x+3)(x+1) @2+ 1)(x+3)(x- 1)
® (P®+1)(x=3)(x-1) @ (¥*-3)(x=-1)(x+1)
® (2 +3)(x-1)(x+1)

B

xt+2x3 - 2x% +2x-3

= (x* - 2x% - 3) +2x% + 2x
3)(x% + 1)+ 2x(x? +1)
1)(x? +2x - 3)
)(x+3)(x—-1)

(x? =
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29.  (x-3)(x=1)(x+2)(x+4)+24 & AFESNSHA (x+a)(x+b) (x*+cx+d)
olth. a+b+c—d2 g& Fotofet

> E:

> He: 10
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x2 +x=AZE AgolH
(x=3)(x-1)(x+2)(x+4)+24
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Sttt x— 19 W, a+ b+ c & FA2?

fx)=x*+ax+b—- fQ)=1+a+b=0--O
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o Mgkt x+1, HAFMETE P +2x% - x-2¥8 W, a+b+c
o] g2 7

®-1 @0 @) @-2 O3
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A=m(x+1), B=n(x+1)°lzt oW
mn(x+1)=x3+2x> —x-2
cmn=x24+x-2=(x-1)(x+2)
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A=(x+1)(x+2)=x+3x+2
B=(x+1)(x-1)=x*>-1
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TAGlel & 7HE W, a,b 9] FE2?
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= —0e[E=,
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~a=0,b=1
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1
@ x=1 @ x=-3 EEx=1
@xz—%E%xzi% @x:—%i‘i%le
(@)x =-5E=x=1

B

fx)=(x-17%, g(x) = (x+8) (x-1)°| 2=

kA, WA £ (x) + 28(x) =0,
32 +12x-15=09 Z23(x+5)(x-1)=0
Sx=-5FEx=1
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45. 20 1)2 =8 & WIS A5 x y ol ohske] 4x + 32 o AU
24:gte] T

@2 @ 4 ® 6 @ 8 ® 10

2x% 4+ 32 = 8 oA

y?=8-2x2 02 £O0H
y2=8—2x220,x2—4$0

SL—2<x<2

o] m, y2 =8 - 2x? & 4x +y? of HYstA
dx+y? =4x+ (8-2x2)%2 = —2(x-1)> 4+ 10
AZIA f(x) = 4x + y? :—2(x—1)2+10
olgtal o}H -2 < x <2 O|EE
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f(x) o] FHg2 10
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46. APPEA (x-1)(x-2)(x +2)(x +3) = -3& V7

O x=+2FEx=2+3V6
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3+ V3i -1+ V13
® x 2\/_ . 2 aT
1% V13 1+ V21
@x: +2 Eex= +2
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